陳林摩哆私人有限公司 TAN LIM MOTOR PTE LTD

AlGAsia Insured's Veh No : SLC6360M

Date of Accident: 04 September 2018

51 Defu Lane 10 Singapore 539216 Tel: 68585151 (24 Hours) Fax: 68580877

GST Regn. No.: M2-8922054-2

Mr Ang Teck Loong

Date: 05 September 2018 LKK - Moleus ochos/180 09 40hn

Estimate To Repair SH2163H - Toyota PRI

Chassis No : LXS120026597

S/No	Quantity	Description	Amount
		<u>LIST ITEMS</u>	
01	1 pc	right rear lamp CM	\$ 433.70
)2	3 ps	right rear lamp clip holders @ \$85.00	\$ 255.00
13	1 pc	right rear fender 3.1500	\$ 775.70
4	1 pc	right rear fender inner liner 70. 1	\$ 142.50
)5	4 ps	right rear fender inner liner clips @ \$4.50	\$ 18.00
)6	1 pc	right rear fender 1/4 glass weatherstrip	\$ 89.00
)7	1 pc	right rear fender air vent \$20	\$ 71.00
8(1 pc	right rear fender inner trim 2 466-10	\$ 814.40
9	4 ps	right rear fender inner trim clips @ \$4.50	\$ 18.00
0	1 pc	right rear fender inner extension panel	\$ 308.10
11	1 pc	battery tray 11	\$ 80.00
12	1 pc	battery brackets	\$ 35.00
13	1 pc	rear bumper D.	\$ 552.30
14	1 pc	right rear bumper side retainer	\$ 111.50
5	1 pc	right rear bumper side holder	\$ 45.00
16	10 ps	rear bumper clips @ \$4.50	\$ 45.00
7	1 pc	right rear bumper end splashield cover 7	\$ 115.80
8	1 pc	rear luggage floor panel	\$ 998.00
9	1 pc	right rear luggage floor panel side trim	\$ 102.10
20	2 ps	rear bumper screw spacer @ \$4.30 / 1	\$ 8.60
21	2 pc	rear bumperspacer screw @ \$4.50	\$ 9.00
22	1 pc	rear end panel 8, 400	\$ 602.10
23	1 pc	rear end panel inner trim	\$ 121.10
24	1 pc	rear exhaust box	\$ 1,113.80
25	1 pc	rear exhaust box heat shield	\$ 122.20
26	2 ps	rear exhaust box mounts @ \$41.10	\$ 82.20
27	1 pc	right rear shock absorber 11	\$ 116.80
8	1 pc	right rear wheel bearing with hub	\$ 610.20
29	1 pc	front bumper	\$ 1,569.00
30	1 pc	front bumper reinforcement Band	\$ 691.00
31	1 pc	front bumper tow cover Zora	\$ 45.00
32	1 pc	front bumper absorber foam 70/1	\$ 125.00
33	1 pc	front bumper lower beam 11	\$ 110.00
34	2 ps	front bumper lower beam brackets @ \$75.00	\$ 150.00
35	1 pc	front bumper lower beam garnish	\$ 85.00
36	2 ps	front bumper side retainer @ \$95.00	\$ 190.00
37	1 pc	right front bumper indicator lamp	\$ 511.80
38	1 pc	right front bumper lower centre air grille	\$ 168.00
39	1 pc	front bumper emblem badge	\$ 78.00

AIGAsia Insured's Veh No : SLC6360M

Date of Accident: 04 September 2018

iltants hence notify 與林摩哆私人有限公司 he following: after spray painting TAN LIM MOTOR PTE LTD

Defu Lane 10 Singapore 539216

• Nu alec a monitication of a allowed

Schole en Lighton is must be resurveyed and is subject to final approval from Insurance Company

Mr Ang Teck Loong

Arthuwlenced by Repairer

sighin de

Date: 05 September 2018

Estimate To Repair SH2163H - Toyota PRIUS HYBRID 1.8L A

Chassis No : LXS120026597

S/No	Quantity	Description		Amount
		LIST ITEMS	T	
40	3 ps	front bumper emblem badge clips @ \$45.00 🖈	\$	135.00
41	1 pc	right front bumper air guide 11	\$	125.60
42	1 pc	front bumper lower splashield cover 11	\$	178.30
43	1 pc	front bumper upper centre air grille 11	\$	148.60
44	1 pc	front bumper upper weatherstrip	\$	128.60
45	6 ps	front bumper upper weatherstrip clips @ \$4.50 17	\$	27.00
46	1 pc	right headlamp cne 799.2/	\$	3,380.30
		177.01	\$	15,642.30
		Less 25 %	\$	3,910.58
			\$	11,731.73
		SPECIAL NETT ITEMS		
47	1 pc	right rear fender 1/4 glass sealant	\$	100.00
48	1 pc	battery 11	\$	250.00
49	1 set	rear bumper parking sensor SWM	\$	450.00
50	1 pc	right rear wheel rim	\$	380.00
51	1 pc	right rear wheel tyre SVC	\$	280.00
		300	\$	1,460.00
				4
		LABOUR & MISC. CHARGES		
1		To check electrical lighting concerned.	\$	60.00
2		To reinstall of rear bumper parking sensor.	\$	150.00
3		To remove and refit rear fender 1/4 window glass.	\$	100.00
4		To rust-proofing of the affected areas.	\$	180.00
15		To check steering geometry and computer wheel alignment.	\$	120.00
6		To drop rear exhaust box and renew the same.	\$	n n 150.00
)7		To remove and refit interior fittings, trimmings, garnish and other, to enable repair.	\$	180.00
80		To drop rear axle and suspension assy, remove and renewal of necessary parts, to conduct final checking and testing.	\$	97 400.00
09		To place vehicle on jig bench to obtain cross and parallel measurement and correct to manufacturer specification with	\$	J 7 550.00
		hydraulic pneumatic jack.		
0		Panel beating, knocking and straighten the necessary portion, remove and renewal of parts, adjust and realign the same.	\$	1,950.00
11		Putty and spray painting of the affected portion.	\$	1,200.00
			\$	5,040.00
		Total	\$	18,231.73



Address: 51 Defu Lane 10 Singapore 539216

Tel: 6858 5151 Fax: 6858 0877

Our Ref : TP 007092018

Date: 24-09-2018

WITHOUT PREJUDICE

Your Ref: CC6/Ally 180 16247 14763

Claims Department - Motor Claims c/o All ASIA PACIFIC INSURANCE

O Original survey report/____ copies of photographs _

Dear Sir/Madam.

ACCIDENT INVOLVING SHILLSH & SLC6360M ON 04-09-2018

Refer to the above accident and please acknowledge receipt of this letter within 14 days.

It appears that the accident was caused by your insured. Enclosed documents to substantiate our client's property damaged claim as our client had authorized us to quantify, to act and to reach settlement within 6 weeks on their behalf: -

Original Tax-invoice number TP0918/013 O Original rental invoice number OSAS / AS & IS / police report O police result O Certificate Of Insurance O Vehicle search result Authorisation To Act *Survey under insurance instruction - LKK 6,687-50 a) Cost of repair (inclusive GST) b) Survey fees / Photographs as per request Vehicle Search fees / GIA fees / Police Report fees / Reporting fees c) Loss of hire / use / reptal / earnings / reptal fees [\$150 × codays]\$ d) e) Scene photographs f) Administrative charges to negotiate settlement (Waive if 100% offer made within acknowledge timeframe) 9) Total

If you are agreeable to the above, please forward discharge voucher for our client's signature and payment issued directly to "Tan Lim Motor Pte Ltd" within 28 days.

Yours faithfully, Johnson Chua

Email: johnson.chua@tlmotor.com.sg

^{*} Driver's injury and other losses exclude in this claim.

TAX-INVOICE NUMBER: TP0918/013

(Please quote our reference number SM007092018 for payment)



Date: 14/09/2018

Vehicle No:

Ang Teck Loong

SH 2163H

Model:

TOYOTA PRIUS HYBIRD

Description	Amount	
To lump sum repair as recommended by surveyor.	\$6,250.00	
Reimbursement of LTA search fees.	\$7.00	

Sub Total	\$6,257.00			
Add 7% GST	\$437.99			
Total	\$6,694.99			

Tan Lim Motor Pte Ltd



AUTHORIZATION TO ACT (AIG Asia Pacific – EXPRESS THIRD PARTY CLAIM)

I, Ang Teck Loung ("the third party claimant")
of Black 406 Sin Ming Avenue #07-227 Singapore 570406 (address),
owner of 51+2/6314 (vehicle no.) hereby authorize Tan Lim Mofur Pte Ltd
("the workshop") to act for me with respect to my claim for repair costs and/or
rental and/or loss of use ("claim") for my vehicle no
damaged pursuant to the accident which occurred on 04/09/2018 (date) along
Junction of Any Mo 450 Avenue 1 and Any Mo 450 Avenue 8 (location)
Tunction of Any Mo 40 Avenue 1 and Any Mo 40 Avenue 8 (location) involving vehicle no/s SLC 6360 M ("the accident").
I further authorize the workshop to settle the above mentioned claim in a
manner that they deem fit and the workshop is further authorized to receive
payment furtherto settlement of my claim with payment cheque/s being made in
favour of the workshop.
I further acknowledge that any settlement the workshop may reach on my
behalf is on a without prejudice and without admission of liability basis insofar
as the driver/owner/insurers of the other vehicle/s is concerned.
as the differentialities of the other verillologic to concerned.
Date this day of (month) 20 (year)

Signed by "the third party claimant"

Signed by "the workshop"

Con Canada

Enquire Vehicle & Owner Information (Vehicle No. SLC6360M As At 04 Sep 2018 / 23:20:00)

Law Firm Search Details

Search Reason:

Insurance claim in relation to traffic accident

Law Firm Case No.:

SRSTP.SH2163H.TLM

Current Owner Details

Owner ID Type:

Company

Owner ID:

199403356Z

Owner Name:

MARY CHIA BEAUTY & SLIMMING SPECIALIST PTE LTD

Registered Address Type:

Private Residential (Condo Apt or House) / Shopping / Office Complexes

Registered Block/House No.: 26

Registered Street Name:

TAI SENG STREET

Registered Unit No.:

#01-03A

Registered Building Name: J'FORTE

Registered Postal Code:

534057

Current Vehicle Details

Vehicle No.:

SLC6360M

Make Description/Model: HONDA / VEZEL 1.5X A

Insurance Company Name: AIG ASIA PACIFIC INSURANCE PTE. LTD.